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@® 24+x)=x+4+4 @ 2(40+ x) = 10x + 4 + 4
® 8x=x+4+4 @ 2(40+x) +4=10x+4
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@ 0.05x-0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
@ 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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@ 4x-12=5x+3 @ 4x+12=5x-3
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B —4x+12=5x-3



QL5 A 74

Sto] 768 & off, A

@D 254 ® 256 B 258

R R -E L



481 371 9] 4 9] Hi5=2] ol 168 & W), 7P 22 5 7h 22



10.

0] 2elo] 5747} 5 Q) Ael o] St et o] Ahe] 4
Apele] Aok Aol A2 ol A1 HE 47k Ag SHcko B
A @), A& 55 o7

@D 35 @ 45 3 55 @ 65 G 75



11. @A A Felef Heole 12 A, ofH ] 9 ]
A

ol7t 2ol o] thole] 3 w7} Hli

rlo _;

@D 1 @ 2 3) 3 @ 4



12, A WhEOIAE B 7REe] 15%2] o]e)S ol 37hE Ast, A7
300 9 TV TSFEU 150 919 o]0l ATk B Ahge] Urbe
Fohe?

@D 2000 ¥ @ 3000 & ® 4000 ¥

@ 5000 ¥ B 6000 £

i

1o



1000 Y #He] D5 oo gk Ao 300 she FE I} gF Ao 150
W dote] BF 14455 YAl 4000 Y& A=l
AL EWS 77t E AR 4] A YR Gdeti? (B AL
]
BA

D 10, 4 @ 8, 6 3 6, 8 @ 4, 10 ® 2, 12



o] Bl 30000 9, F42] SAlE 10000 Yo] o FH o]

ZH
ok ol 92 4000 €4, S-S 3000 9 o Zsttid 2 A4
o FHo] A 2] o Fl 2] 2 v} Fopz] =71

@ 271d & @ 3714 % ® 4714 &

@ 5/E = ® 671¥ =






